Mecdy @21 Mafly woeek #3
Suaqested. Profloms Solachins

:H:i [A: i O O
o
o ¥ 1]

,m()e/wizw\f (2. L)

Tﬂe,rc
a Cmmw v Mol 152 1F A
b T debA 0 flew Tl

%%‘3/:&,3’ q, ; et €~26 po
-z{f] A = [0*7—]-

0o -3e
\\}I‘—‘ r\e'é \2 "?-(T ‘6‘
e AP e
0 Ge o Ge
\' /A \t) v tS @
[Ze_u O : {undg nsided Nﬂh’lx
e - C
‘66—% 0 ] -@G " -
Cu sz




o c-1°°7
C [ZO] dot (-0,
So \0(7 S AoF @ FUVW(.QW%Q
Sofu .
CGontd olso vefe ok ot § 0 for ot €]

2 A - [,'fq;

Aot (K-AT)= |1
(-XT) j‘: ;»x s (1)) (F=x) 3
= )\2_8)\ 15
=(A -3 )(A-5)-
N3  ANI:=|"2 2 o vekor i
~-4t+K - e [ij‘
N = 5 4
| L-%ZZ] - (IJ




| A= |2 t2T]
ﬁ% 0O 32
0 o1 |
dot (A-NL) = | 27N 12
o) 3-A 2
o o)
}\:‘12,3
et A b2
0 22
O OO0 -
ho=Q o | 2
o | 2
| o ol
-1 4 2
M= 2 o 0 2
o o
-1
%&)" G —lﬁea G,
P

/

- (l’-x)(z—A)(?—/\)
4
o [
(IR
n
X_?_'= 0
[Oj‘
e
Ky= 1t
O




S
[———"ﬁ
\.A
1
|
|‘
x
£
J
S ¢ —
I
|
)
R
as

12 B
= (2"t -0 5 (N -t
2 -\ = * ¢
A= Lt
>\§_ = 2+ A‘)\J ) N"(" [ - \—(\’AI
L
-y |} - '
L =~ -
- A
No = 2-L X;_L - 0 ] (Cz)w\“uao\}e)

%L{L)*H}/)\g_ = 145 ’)S_Q_T: (L\/ L, 0{03‘
Ch 7 ey T e (9,0, Gt




L[ -SmStT  [@85€ 5
i((’) - Ce (e St + G e [CIZLS(‘
?) J 0 |
cfo ([ o
teet| s e [
— Qi lt CoS 2.6
52t | L Swzt
| 2 -2 -1
# 7 /A'[\l | ”ZJ
L w
dot (A AT) = |-2-x -2 -4
|~ -x -3 |
| RN
- (20 [(l—ﬂ(%‘ﬂ +3] +2 [v(qq) +37
-9 -t - (1W]

= 3430 —4 N 42 =0
Nﬂf AL: L 5 o Moot e l\/\-Spaed‘)\ﬂ/\

PN 2 S
AL =a3 2N - _
F%B it v N> =2 +2 =0
T ) N s L EC
A T 2N

-2\




g = PA-NT- r\‘g ~Z -1 ﬂ- (\I 0 37\

Xz.: “l'i; "?)""L

— | o -3 0 -2 O
n,
L [ ] O 0 o
2 |
0]’
1 .
2 -4 | [t 1 2
-¢ -3 |.lo I=v -t
1 3-1 o I+ +1

S S e
2 .
Nows, ool b is
{3 £
$U) = Ge [} e
i

- st - Snt

2 st

_ 5 COS(‘, —omt ’

-

4.




/r/CSC -9 gl\/\.{I + CoSt
— ot 4 cost
} 25w b
Ab {=o,
T G
o _ Lo
9. D ¢ 2
{

L

NI

C1, G ts folwt fle SySiena

| 2L © "L

O —l | :I

o L 1 /12
Ca:—Q-

L -5 | -5 st sut
-1 OK 4 —;feé — @5t ~-smt

2 CoS €

—

¢ [-5smt 45t
< -Swmi  cost
7 SWwWw é— -

&N




